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Section Marks :
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Clear Response:

Maximum Instruction Time:
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Question Shuffling Allowed :
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Question Number : 1 Question Id : 7155052651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R; and R, be two relations on E”defined as
(a,b) Ry (c,d)ifad —bc=0

(a,b)Ry (c,d)ifa+d>b+c. Then:

Options :

7155058371, R1 1s transitive but R, is not transitive

7155058372, Ro 1s transitive but Ry is not transitive

7155058373, Both R and R, are transitive

7155058374, INeither Ry nor Ry is transitive

Online
Mandatory
20

20

80

Yes

0

1
715505163
Yes

null



Question Number : 1 Question Id : 7155052651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
YAST R, AR, § 22 dRd &F Uy

(a.b) Ry (c.d), IR ad —bc =0

(a.b) R, (c. d), SR a+d = b +c. 1 YT B, TR :
Options :
2155058371, R1 IPTHSD 318 TG R, YhTHASD ATl

155058372, Ry TPTHSD 3118 T Ry HehTHD ATE!

155058373, &6l Ry ST R, § UPTHS 3R

7155058374, Ry HPTHD ATGT 30T R, HehTHD el

Question Number : 2 Question Id : 7155052652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 (30 50 N
Let a and P be the roots of x* —3x +9 = 0. Then | P~ @ | s equal to
L0 (9p)1?)

Options :

7155058375. 1

]
7155058376. Y

7155058377. 3



7155058378. 9

Question Number : 2 Question Id : 7155052652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ST o 0T B 22— 31 +9 = 0 ot SIHIT 75 3T, % |

(90T (987

p30 30 )2

o | e
!

Options :

7155058375, 1
]
7155058376. 9

7155058377. 3

7155058378. 9

Question Number : 3 Question Id : 7155052653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For z=2 + 5i, the modulus of 22> + 2122 —58z+4 is :

Options :

7155058379. 1153
7155058380. 947

7155058381. 337



7155058382, 837

Question Number : 3 Question Id : 7155052653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

z=2+ 5981, 22° + 2122 — 58z + 4 9 AMIH 3Tg.
Options:

7155058379. 1153
7155058380. 947
7155058381. 337

7155058382, 837

Question Number : 4 Question Id : 7155052654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I the system of equations

Kx -2y +\52=7

30x +(3V15 = 5J6) v + (5715 = 3J10)z = 5421 + 3455
has nfinitely many solutions, then K?is
Options:

7155058383. 27



I
7155058384. 3

7155058385. 9

7155058386. 3

Question Number : 4 Question Id : 7155052654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O kx — 2y + Bz =7

JEX4—J§y—— Ez::JTT
30x + (3415 — 5J6) y + (5415 — 3/10)z = 521 + 34/55
g7 GHIHR0 UUME =] 3Hd Sl 3gd, R K2 = ;

Options :

7155058383. 27

'..nl‘l—

7155058384.

7155058385. 9

7155058386. 3

Question Number : 5 Question Id : 7155052655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

0) fa 0) 1 0\ . .
. = ‘ “ "land1= w:sausfy the equation
\U ﬁ‘_.' ﬂ' o J

(A%B)#21 =201, where #* is defined as A%B =A%+ B, then | of| 1s equal to :

For o, p € E. if the matrices A=

Options :

7155058387.2\ﬂ§

7155058388, 212
7155058389, 4

7155058390. 2

Question Number : 5 Question Id : 7155052655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0° 0‘1 10
o, p € 5 U681, R A-“ B’ —g ™ l‘_wr{mﬂ

(A B) % ”I-”UIHTWW@HHIWWCIS{HCIM A% B=A2+B? ¢ % T deldl
e,

® || e 3.

Options:

7155058387.2\ﬁ§
7155058388, 212
7155058389, 4

7155058390. 2



Question Number : 6 Question Id : 7155052656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. —— 1
The sum of the first eleven terms of the series 1s ——=—+ T 7
1+1° 417 1+2° 42 1+37+3

Options :

7155058391, 133

7155058392 133

7155058393, 33

33
7155058394, 67

Question Number : 6 Question Id : 7155052656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

: 2 it §+34 _m@uﬁﬂmmmaﬁa_&r@

1419 41° 14242 143

Options :
6L
7155058391. 133

66
7155058392. 133

16
7155058393. 33



33
7155058394. 67

Question Number : 7 Question Id : 7155052657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x+2
lim(1+3x) * isequal to
x—0
Options :

7155058395. &

7155058396, &°

7155058397. e°

7155058398, e°

Question Number : 7 Question Id : 7155052657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x+2
lim{1+3x) * =
x—0
Options :

7155058395. &

7155058396, e°

7155058397. e°



7155058398, e°

Question Number : 8 Question Id : 7155052658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

nE : : s A, g X=d P=ld 2=l ;.
Let P(a.p, A]be the image of the point Q(1,2.0) in the line G =5 ,then (PQ) 1s

equal to
Options :

7155058399. 90
7155058400. 180
7155058401. 360

7155058402, 270

Question Number : 8 Question Id : 7155052658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
o X=5 y=12 z-10
Plg,p,1) @ Q(L20) AT Tl Y} =--"| =22 1 Yadie Wi 3 T (PQ) =

Options :

7155058399. 90

7155058400. 180



7155058401. 360

7155058402. 270

Question Number : 9 Question Id : 7155052659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A box contains 7 red and 9 white balls. The number of ways of drawing 8 balls such that there are at
least three balls of each colour, is :

Options :

7155058403. 8820
7155058404, 10584
7155058405. 1764

7155058406. 3515

Question Number : 9 Question Id : 7155052659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ul YT 7 T 3107 9 Wi, i S1ecl. TPV 8 i3 o Plect @I Id [dHH 3 4 U T
Y R Y 3 TN BTeql Adid.

Options :

7155058403. 8820

7155058404, 10584



7155058405. 1764

7155058406. 3515

Question Number : 10 Question Id : 7155052660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

' - . -~ 1— - '
Let [t] denote the greatest integer function. If [[1+:%++*[d=a, then 364~ 254" +84° -4 Is equal to
I |

Options :

7155058407. 19
7155058408. —19
7155058409. 18

7155058410. —21

Question Number : 10 Question Id : 7155052660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

REEI [1] %ﬂ%ﬂﬂ‘{“ﬁfﬁwa?llﬁ:lm ;'[1+.1:+.14id\'=ﬂj , W 360-25" +84* - ' W
e,

Options :

7155058407. 19

7155058408. —19



7155058409. 18

7155058410. —21

Question Number : 11 Question Id : 7155052661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let PL = § units and QM = 2 units be two parallel line segments such that the line segments PM
and QL intersect at the point R, If PL and QM are tangents to a circle passing through points P, Q,
R then radius of this circle is

Options :

7155058411, ~2
7155058412. 2
7155058413, 2+2

7155058414, 4

Question Number : 11 Question Id : 7155052661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT PL = 8 U HTM0T QM = 2 U g G TR YURES SR 3Tl ol QuRAS PM AT QL
¢ R fog 1 BICdId, SR L 3107 QM &1 P, Q. R T g SO dojeeraal Wiidhl el
R i dgor fe 3.

Options :

7155058411, V2

7155058412. 2



7155058413, 2+2

7155058414, 4

Question Number : 12 Question Id : 7155052662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For some o € 17, let PQR be a triangle with two fixed vertices P(2, 5) and Q(a, -11). If the point R
moves on the line /i: 9x + 7y + @ =0, then the centroid of APQR moves on the line /,, which is

20 ; L : ‘ :
—— unifs from it. If the distance of Q from /; is X thenkis

WI30 3,130

parallel to /; at a distance

equal to :
Options :

7155058415. 117
7155058416. 129
7155058417. 131

7155058418. 133

Question Number : 12 Question Id : 7155052662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bigt o € 17 T3, THT PQR &1 FIDIT 3191 (T8 1 P2, 5) MO Q(o, ~11) § &M e FRR
ARIfefg aTgd. SR fefg R G R8T 732 9x + 7y + 0 = 0 R VRT3, R APQR 1 AU

1, R ORI ST, T T 1 SRR IR o
. k ;
w%m@tﬂqafﬁgqﬁmm&réa,maw e,

Options :

7155058415, 117
7155058416. 129
7155058417. 131

7155058418. 133

Question Number : 13 Question Id : 7155052663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ISI

Let Af{x;, y;), i = 1,2,3 be points on the circle x?+ y%= 10 such that Aq lies in the 1™ quadrant and it

is the image of point A, with respect to y-axis. If the distance of point Ay from each of the points

A, and A; 1s 2, then twenty times the area of the A Ay Ay Az is
Options :

7155058419. 12

7155058420. 30

7155058421. 24

7155058422, 48



Question Number : 13 Question Id : 7155052663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T A ). 1= 1,2, 38 160G 2+ 3% = 10 T TIBTGR 3G . 5 Bl A, g UG Rl
T TG, 31Ol - S1&fT Teui foig A, ot iqmm ofrg. SR fg A, @ A, 311107 A, IS
{7, UG o 3R 2 3T, R AA Ay Ay T EAB@A 20T 3R,

Options :

7155058419. 12
7155058420. 30
7155058421. 24

7155058422, 48

Question Number : 14 Question Id : 7155052664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The remainder when 7% is divided by 15 is
Options:

7155058423. 3

7155058424, 7

7155058425, 9

7155058426. 11



Question Number : 14 Question Id : 7155052664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

789 &1 15 = 319l d1h] 3ME.
Options :

7155058423. 5
7155058424. 7
7155058425, 9

7155058426. 11

Question Number : 15 Question Id : 7155052665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the plane y = ax — Bz + v passing through the point (1, -1, 3) is perpendicular to each of the

P i

planes 2x +y+z=1and 3x—2y+2z=0, thena+ f+yisequal to:
Options :

7155058427. 5

7155058428. 13

7155058429. 19

7155058430. 27

Question Number : 15 Question Id : 7155052665 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

R = ax— By v § WA (1,1, 3 ﬁgﬂ?ﬁwm?r—u-—f—lmﬁ— +2z=01l
G TR 9 IR, T+ B+ R e

Options :

7155058427. 3
7155058428. 13
7155058429. 19

7155058430. 27

Question Number : 16 Question Id : 7155052666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

P

Lt o f+??+3k 2 z—?+?L c_’JH? 4t be three vectors. If = - Is the vector such that
L S o JE 5 geery —3'!—’—3‘\'_ - fa A Ay
rXa=/b+c |Xxa and r+ b—c|=0 then ;--(j+,i—,’;) is equal to :
bl 4 / ‘
Options :

7155058431, 3

7155058432. 4

7155058433, 5

7155058434, 6



Question Number : 16 Question Id : 7155052666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
YA q=is2]+3h, b=i—j+2k MO 2=pff—yh Bl WG 3MET. W ; 0 Tfew 318

5y I Y I A | = A ~ A~ .
oY B rxa=:b+c:xa3‘|TrDT to b—c|=0 @ F(l+]—k) TR 3[%

O X o

Options :

7155058431, 3
7155058432, 4
7155058433, 5

7155058434, 6

Question Number : 17 Question Id : 7155052667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected root of the equation 1 +x + 4.+ 218 =0 satisfies the

equation x' = 1, is
Options:

7155058435, 0

7155058436. 29
£

7155058437. 59

7155058438, 118



Question Number : 17 Question Id : 7155052667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1+ 244 180 T RO e TR Fage « = | 31 GHIBRUTd §H14H
BRG] GHTA] .

Options :

7155058435. 0
7155058436. 59

3
7155058437, 59

|~

7155058438. 118

Question Number : 18 Question Id : 7155052668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X have the binomial distribution B(n, p). If its mean is 3 and variance is 2, then P(X < %] is

equal to :

Options :

7155058439. 3

7155058440. 3



163
7155058441, 3°

835
7155058442, 3°

Question Number : 18 Question Id : 7155052668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT X d 506 [daRU B (. p) 31T,
R ferTe FAeROTET He 3 11U QT TR0 2 SR R poc< 3) AT .

Options :

7155058439, 37

7155058440, 3°

163
7155058441, 3°

835
7155058442, 3°

Question Number : 19 Question Id : 7155052669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
L , o 2-3x+2) .
The domain of the function f(x)=cos™| ——"=|is:
wXoF2e—1 ]

Options:



| Z—LE}
7155058443 5

7155058444, [ i
B __JF_ _ = I
7155058445, ==~ 142 = L 2 — 1]

7155058446, (=== 1=+2) U (2 1,9

Question Number : 19 Question Id : 7155052669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fmcost| DT e oA e
'x +2x— 1)
Options :

i 3
! ﬁ_l.‘ _:|
7155058443. \. 5

i

_’x'

7155058444.[5 J
3§ _ _ |
7155058445, *-— =42~ 1. 2 — 1]

7155058446, (== 1=+2) U (2 ~ 1,

Question Number : 20 Question Id : 7155052670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is a tautology ?



Options :
7155058447 ((p = AV p) = ¢

7155058448, ((p A q) = p) = ¢
7155058449, ((p A q) A{~q)) = p

7155058450, {(P=q) V p)=p

Question Number : 20 Question Id : 7155052670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
@relidUd] ahIUTd e ST g 2
Options :

7155058447. (P = Q) V p) = q
7155058448. (P A Q) = p) = q

7155058449, ((p A q) A{~q)) = p

7155058450, ((P=aQ) V p)=p

Mathematics Section B

Section Id : 715505164
Section Number: 2
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505164
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 7155052671 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The curve y=x"+ | divides the area enclosed by the curves y + x| = 3 and y = [x~1|in the ratio m :
n, where m and n are coprime, then m + n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 21 Question Id : 7155052671 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

y=2+ 1T ahy+|x =3 0 3= x-lWWWBﬁWmﬂm:uwﬂw
AU 30d @ m + n IR . 1Y 111~W113W&{H?5W~W.

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052672 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of ways in which 30 identical pens can be distributed among 12 students so that each
student gets at least one pen and exactly two students get at least two pens each, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052672 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

30 TR (pens) 12 faeTeatAed o alecd 3iTed 1 Weld faeneaie T U U sl oo
T ¢ faeei f AT g e o are TR Bal U5l

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Question Number : 23 Question Id : 7155052673 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

18
. 12 .
Let (1+x%—x*) =X ax™ Thenag+ay+ag+..+ a4 is equalto
n=1{

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052673 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

y gl B
JHol (14022 =3 agx®, Wag+ay+ay+.ray NI 3Te.

n=0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052674 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If S, denotes the sum of first n terms of the series 7+ 10 + 16 + 25 + 37 +..., then S3p— Sy is equal

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052674 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

SRS, 87+ 10+ 16+25+ 37 +.. U1 Uil UGN n Uil ¥l aeididl 319, R S5
S IR .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052675 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If [t] denotes the greatest integer < t, then the number of points , at which the function

f (x]:[x+x3J+‘x—x3‘+ x+% is not differentiable in the open interval (-10, 10), is

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052675 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OR [t] § t RIS Tl ¢ U1 TTEIFT SGUIRT A JUifeh G2ifdel 38 o)

(=] % o=l | RTTETRIGH (10, 10) 1 faq SfeTet A feeperea Fapoment fofg

1
+—
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052676 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dx
(35" +5) 1057 47

I
= lo e f(l‘”‘H_‘ 'here C .S( ar itrary £ (0) 1 g
7% 8. where C is an arbitrary constant, then f(0) 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



10to 12

Question Number : 26 Question Id : 7155052676 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B Llog, () 1+c, B C B BIVAIE) RN SR /(o) TIT

(?’1: i 5} ‘\'IIII ”.'{1 +7 \"ISR[]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052677 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the equation of the hyperbola with foci (1, 5), (1, —1) and eccentricity 3 be

2 -2y +ar+by+c=0. Thenla+b +c|is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052677 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

TS Gl (3 ST (1, 5), (1, ~1) A1 1 SEOTRAT SR TGO 2 - 242 + a + by +
c=0 3. Wa+b+c I e,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052678 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let 0y, 0, be the values of « such that the distance between the point (2, 4, 3) and the plane

3x+y+az+10=01s 35 units. Then the area of the triangle with vertices (ay, oy, 0),

(164 . ) W)
(a, a1, 0) and |1—:.3;u is unit-.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052678 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



AT 1y, 0y @ o o G T e 37T STl ofd B (2, 4, 3) BT {6l 30T 3 + 3+ 0z + 10= 0%
T AT AR (55 T . R (a1, 09,0, e, g, 0) 0N 25,0 & PRIl
YOI IO &7 (TP)" 3.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052679 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
" st J n N Mns fi Fi N ~
Let O be the origin and let the vectors OA=-3;+7; +5k, 0B=-51+7j-3k and o¢= ,; represent
three sides of a parallelopiped, where ;; is a unit vector in the xy- plane. If the maximum volume
of the parallelopiped is 2/, then a is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052679 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST O B SRUTEG e SMMOTHST 5R=-37+7] +5, OB=—51+7]-3% OC=5 © WG FHIR
ST I 6] 36, 34 ;, B vy WAeTicl Uk G 91T

R AR TeBadld HgdH TIhE 2.7 30 R o RIR e,

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052680 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
X+y=2 dy X+y+l

If the solution curve of the differential equation X+ >2 passes through the

x+y=l dx x+y+l

i | b
a +da+2

points (JE.JE | and (2.a), then 2a~log, is equal to

L6
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052680 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



1+y-2 dy _ x+y+2
x+y-1 drx

x+y+1

!r’ & e “I -,
FAIGHYET T SR R 2u-tog, 52 AT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

x+y>2, T [GH0D GHIBRVIE DT Tb (v2,43) M0 (2, o) T

9.

10to 12

Aptitude Test
Section Id : 715505165
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505165
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 31 Question Id : 7155052681 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Adobe is a

Options :
7155058461, Lype of cement

7155058462, Lype of floor finish

7155058463, Lype of paint

7155058464, Lype of Brick

Question Number : 31 Question Id : 7155052681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Adobe % AL \3ﬂ% ?

Options :

7155058461, [HH Al DR

7155058462. Eﬁ?ﬂil;‘ﬂla (floor finish) =l UhIX
7155058463, Ucdl UBR

7155058464 9 Al UHR

Question Number : 32 Question Id : 7155052682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I : Chandigarh is the first planned city of Independent India
Statement IT : Chandigarh city was designed by Swiss French architect Le Corbusier

In the light of above statements, choose the most appropriate answer form the options given
below

Options :

7155058465. Both Statement I and Statement IT are correct
7155058466. Both Statement I and Statement IT are incorrect
7155058467. Statement I is correct but statement II is incorrect

7155058468. Statement I is incorrect but statement I is correct

Question Number : 32 Question Id : 7155052682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrefl & faur feeft sied:

faeT 1 : 9iTE § WA YRA Uige Haifoid TeX (Planned city) TG,

faem 1 - divTe gl Tl Wi9-thd dRdfRICUBR Le Corbusier i+ dcil g,
et fAeriaeT, Tl fEeled Taraite! gaffis aivg v frast

Options :

7155058465, TAHT T 30T fdefT 11 &Il A1 3igd

7155058466, ﬁ%ﬂ:[ I &TﬁTfﬁfiﬂ:{ IT ar_‘ﬁﬂ m 3 %E

7155058467, [THT 1T 3(Tg Uq T8 11 S 218



7155058468, U I SFI 318 U¥q fauT 11 A 218

Question Number : 33 Question Id : 7155052683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Glass has low thermal conductivity
Statement I : Glass can absorb, refract and transmut light.

In the light of above statements, choose the most appropriate answer form the options given below
Options :

7155058469. Both Statement I and Statement IT are correct
7155058470. Both Statement I and Statement IT are incorrect
7155058471. Statement I is correct but statement II is incorrect

7155058472. Statement I is incorrect but statement I is correct

Question Number : 33 Question Id : 7155052683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el gl e Eell 3med-

faa= 1: 9he € Tadd HRa aftel Haifeid %X (Planned city) HTe.
o= 11 =9dere s =ar EE-Hhg mﬂfﬂw Le Corbusier =T dhell 3o

Options :



7155058469, faure 1 ifor faurs I giedr I9T 3ed

7155058470, T | 0T faan || Qe s FE

7155058471, 9= | ea # wig @wa || 3T g

7155058472, 9= | HTTT #E 9ig U= || AT 3T

Question Number : 34 Question Id : 7155052684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II
A PPMUY [ [KAUSHAL VISEAS YOINA
B. PMAY II. JAN DHAN YOJANA
C. PMEVY [L JUITWALA YOJANA
D. PMIDY IV, JAWAS YOJANA

Choose the correct answer from the options given below:
Options :

7155058473, A-L, B-III, C-II, D-IV

7155058474, A-III, B-IV, C-I, D-II

7155058475, A-IV, B-II, C-III, D-I

7155058476, A-IV, B-III, C-I, D-II

Question Number : 34 Question Id : 7155052684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

ST 1 SIT0T ATET 11 AT SITST S,

qrel 1 TRt I
A PMUY 1. [®red aarE o
B. [PMAY 1L S 49 areHr
C. PMEVY 111 [3saa IiaE]
D. PMIDY V. |3mEg gy
ATl i maEiue Iy 3 Faar:
Options :

7155058473, A-L. B-III. C-II, D-IV

7155058474, A-1IL, B-IV, C-I, D-II

7155058475. A-IV, B-II, C-III, D-I

7155058476. A-IV. B-III, C-I, D-II

Question Number : 35 Question Id : 7155052685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST IT
A |CP Kukreja [ IIM Ahmedabad
B. [Louis I Kahn II. Jawahar Lal Nehru University
C. |B.V Doshi II1. IIT Kanpur
D. JAchyut Kanvinde| IV, [[IM Bengalum

Choose the correct answer from the options given below:
Options :
7155058477, A-IV. B-II, C-1. D-III

7155058478, A-IIL, B-1. C-II, D-IV



7155058479, A-II, B-1, C-IV, D-III

7155058480. A-I. B-IV, C-III, D-II

Question Number : 35 Question Id : 7155052685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 30T ATET 11 AT SISl e,

LISTI LIST II
A Gt ol | I [SEEUHE eHaE
B. [fru1®ed | I [Faean Je® [hauig|
C. Eaiamn | memd e
D. |3r=0d dHdg | IV, [#13gud Y

qrdl feded TaEius! gy 3R Haer:

Options :

7155058477. A-IV. B-II, C-1, D-III

7155058478, A-III, B-1, C-II, D-IV

7155058479, A-IL, B-1, C-IV, D-III

7155058480. A-L. B-IV, C-III, D-II

Question Number : 36 Question Id : 7155052686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which one of these is not a complimentary colour?

Options:



7155058481, Blue-Orange

7155058482. Red-Green
7155058483, Blue-Green

7155058484. Violet-Yellow

Question Number : 36 Question Id : 7155052686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Glelidud] ¥ {1 I8l 2
Options :

7155058481, BI-HIR]

7155058482. SIK I% Xl

7155058483, 119 ‘lé d]

7155058484, STIHBT-fUdB]

Question Number : 37 Question Id : 7155052687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In which State of India, Robbers cave is situated:

Options:

7155058485. Himachal Pradesh



7155058486, Uttarakhand

7155058487, Uttar Pradesh

7155058488, Madhya Pradesh

Question Number : 37 Question Id : 7155052687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
HRATdI DIV IAHTT A T 31E 2

Options:

7155058485. %] ENE "}* E

7155058486, STRIAS
7155058487, 3T UG

7155058488, H¥I TGR

Question Number : 38 Question Id : 7155052688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option among the following:
Petronas Tower is situated in:

Options :

7155058489. Paris



7155058490. Dubal

7155058491, Kuala Lumpur

7155058492, New York

Question Number : 38 Question Id : 7155052688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dreiicddl Ry Ui (Haar:
Jo Y eTaR T 31Te:

Options :

7155058489, U

7155058490. g g

7155058491. PICITCTYR

7155058492. £|

Question Number : 39 Question Id : 7155052689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Konark Temple is located in which state?

Options:

7155058493, Madhya Pradesh



7155058494, Odisha
7155058495, Karnataka

7155058496, Rajasthan

Question Number : 39 Question Id : 7155052689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I TR HIUTAT AT 3TE 2
Options :

7155058493, HE UCXT

7155058494. 3‘"'%3”

7155058495, BAICH

7155058496, XTSI

Question Number : 40 Question Id : 7155052690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the Lotus Temple?

Options :

7155058497, Louis I Kahn

7155058498, Mohse Safdi



7155058499, Fariborz Sahba

7155058500, Richard Meyer

Question Number : 40 Question Id : 7155052690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ey dued IRIRICIHR HI0T 315 2
Options :

7155058497. SERPEARE

7155058498, HIERl UTHA]
71550584990, RIS HIGHT

7155058500, SIda HIT

Question Number : 41 Question Id : 7155052691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A small lift for carrying only a small load is known as:

Options:
7155058501. A dead Bearer

7155058502. A Dumb Waiter

7155058503, A Jockey Boy



7155058504, A push upper

Question Number : 41 Question Id : 7155052691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SHH] IS =T Sl feluedl a1 A1ar- Hiesadid -

Options :
7155058501, ©9 [93RR

7155058502, OF dcX
7155058503. Glﬂél o[

7155058504, 331 SR

Question Number : 42 Question Id : 7155052692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which are often referred as 'twin cities' of Odisha?
Options :

7155058505. Bhubaneshwar-Puri

7155058506. Puri-Cuttack

7155058507. Bhubaneshwar-Cuttack

7155058508. Bhubaneshwar-Rourkela



Question Number : 42 Question Id : 7155052692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Options :

7155058505, HATHR-TH

7155058506, -

7155058507, A TAX-PCD

7155058508, HITAR-ASHDl

Question Number : 43 Question Id : 7155052693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which is the correct chronology of Human Civilizations in terms of their existence?

Options:
7155058509, Mesopotamia-Harappa-Egyptian-Chinese
7155058510, Mesopotamia-Egyptian-Harappa-Chinese

7155058511, Mesopotamia-Chinese-Harappa-Egyptian

7155058512, Egvptian-Mesopotamia-Harappa-Sumerian



Question Number : 43 Question Id : 7155052693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4! eh AT RIGHYR T B HIUKdl ?
Options :

155058500, [HITAICTHAT-gS WIS
155058510, (HIAICTHAT-SIRIE- g w1+t
155058511, [HSIAICTH AT g S-S

7155058512. S Sl E MEE 18] BRI B T

Question Number : 44 Question Id : 7155052694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Qutub-Minar in Delhi was built by:

Options :

7155058513. Shah Jahan
7155058514, Jahangir

7155058515, Akbar

7155058516, Qutub ud-din Aibak



Question Number : 44 Question Id : 7155052694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fecelidic Pda- TR BIofl dferer -
Options :

7155058513, RNE G
7155058514, S1GITIR

7155058515, Hhd{

7155058516, PII-3G-GIH-UdD

Question Number : 45 Question Id : 7155052695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which direction in the southern hemisphere would you get glare free (diffused) light throughout the
year?

Options :
7155058517, North
7155058518. South

7155058519. East

7155058520. West

Question Number : 45 Question Id : 7155052695 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
&1 T HIoTe =il TETe auLR [ddhiv] UHT 3eosdl?

Options :

7155058517, 31X

7155058518, GI&IUI

2155058519, 49

7155058520. TI9H

Question Number : 46 Question Id : 7155052696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the famous "Jawaharlal Kala Complex" in Jaipur?

Options:

7155058521, Raj Rewal
7155058522, Charles Correa

7155058523, Achyut Kanvinde
7155058524, Hateez Contractor
Question Number : 46 Question Id : 7155052696 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

SQRA Uiig "SaIex dall Yo AT dfRICTHR HI0 3Tgd?
Options:

7155058521, XToT XATcl

7155058522, AT B INAT

7155058523. | gil I ||3

7155058524. © |3| Dl EjEE

Question Number : 47 Question Id : 7155052697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Dhajji-Dewarl is a construction style popular predominantly in

Options:

7155058525, Coastal Areas

7155058526. Plains

7155058527, Mountainous Region

7155058528. Desert Areas

Question Number : 47 Question Id : 7155052697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YToll-Gasl g1 5T U U SRTCIel dfefdr™ USd Sffe.

Options :
7155058525, Th-RT HAT

7155058526 * G

7155058527, SITRI UG X]

7155058528, dlddc] HIT

Question Number : 48 Question Id : 7155052698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which stone is used for roofing in mountainous regions?

Options :

7155058529. Marble
7155058530. Granite
7155058531. Shale

7155058532, Sand Stone

Question Number : 48 Question Id : 7155052698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SITRT® UCITd SR 9TdUaTHT6] S0l &8 aruRdl Srdl 2

Options :




7155058529, HISH

7155058530. 2 ”g C
7155058531. Q_IE

7155058532. HEE—H

Question Number : 49 Question Id : 7155052699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Chandigarh 1s an example of which type of city planning.

Options :

7155058533. Radio Centric
7155058534, Grid-1ron
7155058535, Linear

7155058536, Organic

Question Number : 49 Question Id : 7155052699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

iy r T b | ™
dalile <lp <da=d] @IV U kId dqlgrUl \}ﬂ%' ?

Options:

7155058533. i—%&h élléﬁ T




7155058534, WS- 3R
7155058535, NIGER:

7155058536, X1 ‘:' D

Question Number : 50 Question Id : 7155052700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If you have to build on the seashore in Goa, which rooms would have the best view of the sea?

Options:
7155058537, 1 hose facing North

7155058538, 1 hose facing South
7155058539, 1 hose facing East

7155058540, 1 hose facing West

Question Number : 50 Question Id : 7155052700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

R T Ml Wb TATaR, STeprA haere ST, R IVl e Tl e
Ty fdan

Options :

7155058537. JOREM! U]

7155058538. E‘—f& -15 [ 3R I



7155058539. E@E@I SIUITI

7155058540. & EEI | !

Question Number : 51 Question Id : 7155052701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
"NIFT" National Institute of Fashion Technology. Delhi is designed by

Options :

7155058541, B.V Doshi
7155058542, C.P Kukreja
7155058543, Ra] Rewal

7155058544, Bimal Patel

Question Number : 51 Question Id : 7155052701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"NIFT" 92Md SREA]C 3t B daHialsl, feeeli=l T HIvil dedl 2
Options :

7155058541. Eﬁ %FI alﬂ |

7155058542, 1. . @ &



7155058543, X1 3ATcl

7155058544 [9Hd T d

Question Number : 52 Question Id : 7155052702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II

[. |[Empire state Building

II. [Hagia Sophia

IIT. |Svdnev Opera House

IV |Colosseum

Choose the correct answer from the options given below:



Options :
7155058545, A-1I, B-1, C-IV, D-III

7155058546, A-L, B-11I, C-IV, D-II

7155058547, A-L, B-II, C-III, D-IV

7155058548, A-IV. B-III, C-II, D-I

Question Number : 52 Question Id : 7155052702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TTET 1 30T ATE] 11 AT SiTST S,

LIST I LIST IT

1. s 3R T34

V. [@aifeem

ATeiid gaiE D! g 3R (Haal:

Options :
7155058545, A-1I, B-I, C-IV. D-III

7155058546, A-L, B-III, C-IV, D-II
7155058547, A-L B-II, C-III, D-IV

7155058548, A-IV. B-III, C-II, D-I



Question Number : 53 Question Id : 7155052703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LIST IT

. [Tesla

. |Ferrari

I11. [Porsche

" Tovota

Choose the correct answer from the options given below:
Options:

7155058549, A-IV, B-1, C-II, D-III

7155058550, A-1L B-III. C-I, D-IV

7155058551, A-1II, B-II. C-I, D-IV

7155058552, A-IV, B-III, C-II, D-I

Question Number : 53 Question Id : 7155052703 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ATET | 31707 AT 11 Ar=AT SIS AT Sosdl.

LISTI LIST II

{1 b

I [

1L [orgf

- | v [ergter

Qrelr feerear ggiEddr gy Oy Hasn
Options :

7155058549, A-IV. B-1, C-II, D-III
7155058550, A-1L, B-III. C-I, D-IV

7155058551 . A-III, B-II. C-I1, D-IV

7155058552, A-IV, B-III, C-II, D-I

Question Number : 54 Question Id : 7155052704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Red, Blue and Yellow are the primary colours of a colour wheel.

Statement IT : The colours which are positioned opposite to each other in a colour wheel are
known as complementary colours.

In the light of above statements, choose the correct answer form the options given below
Options :

7155058553. Both Statement I and Statement IT are correct
7155058554. Both Statement I and Statement IT are incorrect
7155058555, Statement I is correct but statement II is incorrect

7155058556. Statement I is incorrect but statement II is correct

Question Number : 54 Question Id : 7155052704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@rell &M fayH feell aga:
Ao 1 - frer, et 3for fdest § 3 dhiediel wmufAe 7 3igd.
fqefT 11 . 37 T U Hoh =T faReeg, TSIt Srgum=a ST [Reb 31 R UIAT.

I fauHiaR=-, Wrelt faoledn wggiUs! gdiftd gy yaiy Hasr
Options:

7155058553, [AHT T SO {4 11 &l a1 3Mgd

7155058554. ﬁ%ﬂ:[ I &TfﬁTﬁ%ﬂ:[ IT ar_‘ﬁﬂ m 3 %E

7155058555, [GUM 1 A 318 Uq fau m 3mmg oig



7155058556, U I S 318 U¥d AU 11 A 218

Question Number : 55 Question Id : 7155052705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Following question consists of problem figures followed by answer figures. Select a figure from
amongst the answer figures which will continue the same series or pattern as established by the
problem figures.

PROBLEM FIGURES

M| |

Options :
7155058557.
7155058558.

7155058559.




7155058560.

Question Number : 55 Question Id : 7155052705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Weilcl WA U Sl 30T IR el S, WY SApaiHel Rfid 4 fohal T Ie
AU Sf1epell IR APy Hagl

W Sligpell

PN ||

Options :

7155058557.

7155058558.

7155058559.



7155058560.

Question Number : 56 Question Id : 7155052706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
How many triangles are there in given figure:-

AVAVAN
AVAVAVA

Options:

7155058561. 26

]
N

7155058562.

7155058563. 27

7155058564. 24



Question Number : 56 Question Id : 7155052706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qTald S fobdl FHIv 3ed 2

AVAYA
/N NN/

Options :

7155058561. 26

[
N

7155058562.

7155058563. 27

7155058564. 24

Question Number : 57 Question Id : 7155052707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Find the odd one out:-

1.9, 25, 3243 39
Options :

7155058565. 39

7155058566. 32



7155058567. 23

7155058568. 9

Question Number : 57 Question Id : 7155052707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TETd 9 SYUIRT S AdST-

7952532, 453,59
Options :

7155058565. 39

7155058566. 32

[
L

7155058567.

7155058568. 9

Question Number : 58 Question Id : 7155052708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A residential building has 135 floors. The height of ground floor is 4.2 meter (including length and
slab thickness). Rest all other floors are of 3.3 meter high (including slab thickness). What is the
total height of the building (from ground to terrace) in meters?

Options :

7155058569. 45.6 meter



7155058570. 50 meter
7155058571. 530.4 meter

7155058572. 51.6 meter

Question Number : 58 Question Id : 7155052708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

UhT foaft ARG 15 el Mgl TosAoedr! Jei 4.2 Hie (et @ el TS Tid )
3. 3R 94 7ot 3.3 W S (@l ST il ¢Re) 31Ted. R (1T

Tt ) wepur ezl ot by

Options :

7155058569. 45.6 HICY

7155058570. 30 flIEQ
7155058571. 50.4 ﬂIEQ

7155058572, 51.6 ﬂIEQ

Question Number : 59 Question Id : 7155052709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the mirror image of the given word:-

|
|
SUCCESS |
|
|



Options :
7155058573. & & 4D U

7155058574, € J ) Hee
7155058575. SUCCESS

7155058576. SSECCUS

Question Number : 59 Question Id : 7155052709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fecTedT reard] R UidHT 3fieal.-

|
|
SUCCESS |
|
|

Options :
7155058573. 2 24D Ué

7155058574, & J )0 H22
7155058575. SUCCESS

7155058576. SSECCUS

Question Number : 60 Question Id : 7155052710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The scale of a map is 1:1000. If a car travels 7 cm from point 'A' to point 'B' on the Map. Then how
much the car has travelled in original:-

Options:

7155058577. 0.7 km
7155058578. 7000 mim
7155058579. 7 km

7155058580. 70 meter

Question Number : 60 Question Id : 7155052710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ueh! TR T 1:1000 311G, OR Uh BR 1 ThISIR g ‘' U B e, Wt 7 et e,
R IO BR fobell ety

Options :
7155058577, 0.7 [ HI
7155058578, 7000 HIHT

7155058579, 7 [ HI

7155058580. 70 ]:"EQ

Question Number : 61 Question Id : 7155052711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A land size of 80 meter » 40 meter for a house design is drawn on paper at a scale of 1:100, then
what size is drawn on paper to represent the land?

Options:

7155058581. & meter * 4 meter
7155058582, 80 meter * 40 meter
7155058583. 8 centumeter * 4 centimeter

7155058584, 4 meter * 2 meter

Question Number : 61 Question Id : 7155052711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

UhT TR T-H13] FHIUTER U1 BITETAR 80 HICR » 40 HeX < Sffifiel SR dieel,
T SIS PRIGIGR PTgeie ATHRAM fddll 2

Options :

7155058581. 8 ]:‘"Eq < 4 ﬂfaie

7155058582, 80 f”EQ < 40 1:f| L

7155058583, 8 HcIHICIx 4 Y THICY

7155058584. 4 f”EQ“ 2 1:1 L

Question Number : 62 Question Id : 7155052712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the missing number in given series.
16, 33, 65, 131, 261, (.....)
Options :

7155058585. 523
7155058586. 321
7155058587. 524

7155058588. 520

Question Number : 62 Question Id : 7155052712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feciedT HdIfcIchd gRaciall SISl e,

16,3365, 131,26 ()

Options :

7155058585. 523

7155058586. 321

7155058587. 324

7155058588. 520

Question Number : 63 Question Id : 7155052713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
In a code language if ROMAN is written as TQOCP: then ITALY is.......

Options:

7155058589. KVCMA
7155058590. KWCNB
7155058591. KUCLA

7155058592, KVCNA

Question Number : 63 Question Id : 7155052713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
] Gl fd 4TVd R ROMAN § TQOCP 3 feffgel Sfek: TR ITALY & fafgel S5 dl......

Options:

7155058589. KVCMA
7155058590. KWCNB
7155058591. KUCLA

7155058592. KVCNA

Question Number : 64 Question Id : 7155052714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select a suitable figure from the four alternatives which will come in the empty box.

- | X | X | ©

)X
B\ b |

Options :

7155058593. D

7155058594, C

7155058595. B

7155058596. A

Question Number : 64 Question Id : 7155052714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



— X X O

(A) (B) (C) (D)

| >K
D D|+
A b |

Options :

7155058593. D

7155058594, C

7155058595. B

7155058596. A

Question Number : 65 Question Id : 7155052715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Looking in the direction of arrow, identify the most
appropriate elevation from the given answer figures.

/!

Options :

7155058597.

7155058598.

7155058599.

7155058600.




Question Number : 65 Question Id : 7155052715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feeiell 3D el U] oyl € SRGad!. SO G UTgH, feaiedl SR iU ] waifiid
T SR s

A

Options :

7155058597.

7155058598.

7155058599.




7155058600.

Question Number : 66 Question Id : 7155052716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Question figure shows top view/ plan of an object. Identify the INCORRECT 3D view from the
given answers figure.

Options :

7155058601.

7155058602.




7155058603.

7155058604.

Question Number : 66 Question Id : 7155052716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY ATl UhT TId Tdl=l TV I GRdd. feeledl SR SGaine 3 3p ™
3flool,

Options :

7155058601.




7155058602.

7155058603.

7155058604.

Question Number : 67 Question Id : 7155052717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many surfaces does the object have?

Options :

7155058605. 9
7155058606. 10
7155058607. 8

7155058608. 11

Question Number : 67 Question Id : 7155052717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T a&cl el JEURT 31gd 2

Options :



7155058605. 9

7155058606. 10

7155058607. 8

7155058608. 11

Question Number : 68 Question Id : 7155052718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the question figure is cut into two parts, which of the answer figures complete the question figure
without any overlappings?

Options :

N

71550586009.

7155058610.



7155058611. "'-—
7155058612. IT g

Question Number : 68 Question Id : 7155052718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Y SETeT G HITIHE I, T IR SIS B el 7 SMpiel BIoIre]
BN ST F Rell 90l el 2

Options:

N

71550586009.

7155058610.



7155058611. “‘*-
7155058612. IJ—_\_KI S

Question Number : 69 Question Id : 7155052719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 3D problem figure shows the view of an object. Identify its appropriate top view from the
answer figures,

Options:

7155058613.



7155058614. ]

7155058615. -

7155058616.

Question Number : 69 Question Id : 7155052719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

3D WY 31cil UhI T&[d T GRIdd. T A T [GHUIR 2 TR i FasT

Options :

7155058613.

7155058614.

0L

7155058615.




7155058616.  ——

Question Number : 70 Question Id : 7155052720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct elevation when you look into the object from the marked arrow side of the plan
of the object.

M ) ()

A B G D
Options :

7155058617. D

7155058618. A



7155058619. B

7155058620. C

Question Number : 70 Question Id : 7155052720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gﬁ;@%@ ARG ST ST A9 Uifget 3l 1 e A1 3NGH Bivd o

AN NA

A B [ D
Options :

7155058617. D

7155058618. A

7155058619. B

7155058620. C



Question Number : 71 Question Id : 7155052721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A paper 1s folded n a given pattern and 1t is cut at the end. Identify which pattern is formed when
the paper is unfold.

/
/
/
X
e 2 A A
[] L
Options :
- L ] :’.
s
o
L] L4 L
//;:/}\
hod ™ .
7155058621. s _sls e

A .
P
"4
- Y ]
/'/lll\
" “ a
7155058622, /s _sls =

- L
] .
//
.
D
s
'V o
7155058623.lx* *|* =

: LN ;.
//'
[ X ]
- LV ] -
//| ~
b o
7155058624, s ___els  «

Question Number : 71 Question Id : 7155052721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

T GG feeled] Ta-aR T drel 1107 e ol HIuel. o] BITGr) 91 SaTaal degl
T BIVIT T R el o e

/
/
X
A AN
] L
Options :
L L ] }.
s
--'f\/
- - -
Foly
™,
G// l g
7155058621, e __sle e

S

P

-./
- Y ]
//.l.\ -
'-/-" '\\.
7155058622. ks _sle »
- L
. .

//

L)

. K

7 b
LV e
7155058623. ¢ e|e *

e
//’
[ X ]
. S -
= she
N
L7 S

7155058624, lx=  els «

Question Number : 72 Question Id : 7155052722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

I

L7/ [/
A

Options:

7155058625.

7155058626.

7155058627.

7155058628.




Question Number : 72 Question Id : 7155052722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rﬁ%@mﬁwaﬂmamwﬁ 317g. 0T for2H UIfget 3Rl 317 £ ivfd

!

/L) [/
A

Options :

7155058625.

7155058626.

7155058627.




7155058628.

Question Number : 73 Question Id : 7155052723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

\

[

(L) [/
A

/

Options :

7155058629.

7155058630.



7155058631.

7155058632.

Question Number : 73 Question Id : 7155052723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



rﬁ%@mﬁwaﬂﬁmmwﬂﬁ 311G, ST fe3 UIfgel Sl 4 e Ivd o

o

N

Options:

7155058629.

7155058630.

7155058631.




7155058632.

Question Number : 74 Question Id : 7155052724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
From the given options below, choose the correct plan of the 3-D object, when viewed from the top.

A

Options :

7155058633.

7155058634.



7155058635.

7155058636.

Question Number : 74 Question Id : 7155052724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



el feretedt T A, qRe 2 Ulfge 3, 3-D a7 A1 X1 SIvid! o (Hds

&3

Options :

7155058633.

7155058634.

7155058635.




7155058636.

Question Number : 75 Question Id : 7155052725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The second figure in the first part of the problem figures bears certain relationship to the first
figure. Similarly, one of the figures of answer figures bears the same relationship to the first figure
of the second part. Identify the correct option from the given answer figures.

e \\\\: ) f')

. (1] ] H

A B C D
Options :

7155058637.

7155058638.

7155058639.




7155058640.

Question Number : 75 Question Id : 7155052725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
N
7155058637.
7
7155058638.

7155058639.
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Question Number : 76 Question Id : 7155052726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Identify the true mirror image of the figure amongst the answer figures with respect to X-X

X

Options :

7155058641.

7155058642.




7155058643.

7155058644.

Question Number : 76 Question Id : 7155052726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-X T SR, fGeled Mgdildl U SRS WicH] IR STHAige Qe

X

Options:

7155058641.



4

7155058642.

7155058643.

444

7155058644.

Question Number : 77 Question Id : 7155052727 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option amongst the answer figures which complete the series.
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Options :

7155058645.

7155058646.

7155058647.

7155058648.




Question Number : 77 Question Id : 7155052727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058645.

7155058646.

7155058647.

7155058648.



Question Number : 78 Question Id : 7155052728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sheet is folded in marked format and cut led at last as shown. Identify from the options below, how
the pattern will be made when it's fully unfold?
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Options :

7155058649. B

7155058650. A

7155058651. D

7155058652, C

Question Number : 78 Question Id : 7155052728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058649. B

7155058650. A

7155058651. D

7155058652, C

Question Number : 79 Question Id : 7155052729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the figure mentioned below find the missing series:-

ANNIAWAIAN
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Options :

7155058653.

7155058654.

7155058655.

7155058656.

Question Number : 79 Question Id : 7155052729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058653.

7155058654.

7155058655.

7155058656.

Question Number : 80 Question Id : 7155052730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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The diagram shows the supply and demand of different users for different items. Which of the
following is/are correct?

A. Sanitizer only meet 50% of the demand

B. Cosmetics has the least supply among all.

C. Among all, two items have equal demand but difference in supply

D. Among all, two items have equal supply and two items have equal demand.

Choose the correct answer from the options given below:-
Options :
7155058657, B and D only

7155058658, A and B only

7155058659, A and C only

7155058660, B: C and D only

Question Number : 80 Question Id : 7155052730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
7155058657, B Ul D Thad

AN
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7155058658, A 0T B Thdd
7155058659. A 0T ¢ hdd

7155058660, B. C MU D Thad

Planning

SectionId : 715505166

Section Number: 4



Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505166
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 81 Question Id : 7155052731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When a person cannot meet a minimum level of living standards compared to others in the same

time and place, it is called :
Options :

7155058661, Foverty
7155058662. Abundance

7155058663, Adequacy

7155058664, Luxury

Question Number : 81 Question Id : 7155052731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

7155058661, Gl ¥

7155058662. el

7155058663, HHIHIh N

7155058664. a IR

Question Number : 82 Question Id : 7155052732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Acropolis in Greece is a/an:

Options :

7155058665. Court

7155058666. Cltadel on a High Land

7155058667. Open Air Theatre

7155058668. Great Bath

Question Number : 82 Question Id : 7155052732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058665, PIC

7155058666. %HJé o

7155058667, © 49 lcdi]e

7155058668, UC dIY

Question Number : 83 Question Id : 7155052733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Land-use map, identify the colour code used for recreational uses.

Options :

7155058669, Yellow
7155058670. Green
7155058671, Purple

7155058672. Blue

Question Number : 83 Question Id : 7155052733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSI STHI TURT=AT TEATaR, HARST aTiRT=1 T Hebd D1 311G -
Options :




7155058660, UdEAT

7155058670, 16
7155058671, SIIHST

7155058672, T3]

Question Number : 84 Question Id : 7155052734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Statement I : The plan of Delhi city is in the radial form.

Statement IT : The plan of Delhi city is in the Grid Iron form.

In the light of the above statements, choose the correct answer from the options given below:
Options:

7155058673. Both Statement I and Statement IT are true
7155058674. Both Statement I and Statement IT are false
7155058675. Statement I 1s true but Statement IT 1s false

7155058676. Statement I is false but Statement IT is true

Question Number : 84 Question Id : 7155052734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 85 Question Id : 7155052735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

A I [Christaller's concept

1».?

II. |Garden City concept

V
C. % IIT. [Ernest Burgess

\
(1100 &
D. D IV. [Radburn concept
(-
o

Choose the correct answer from the options given below:

Options :
7155058677, A-1L. B-III. C-I1, D-IV

7155058678, A-IIIL, B-1. C-II, D-IV

7155058679. A-IV, B-III, C-I, D-II

7155058680, A-IL, B-III. C-IV, D-I

Question Number : 85 Question Id : 7155052735 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058677. A-1L, B-III. C-I, D-IV

7155058678, A-I1I, B-1, C-II, D-IV

7155058679, A-IV, B-III, C-I, D-II

7155058680, A-IL, B-III. C-IV, D-I



Question Number : 86 Question Id : 7155052736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Tower in the Park [. |5ir Ebenezer Howards
B. [Neighbourhood Unit] II. [Le-Corbusier
C. |Garden City III. [Clerence Perry
D. |Sector Model IV. [Homer Hovt

Choose the correct answer from the options given below:
Options :
7155058681, A-L. B-III. C-IV, D-II

7155058682, A-IL, B-III. C-1, D-IV
7155058683, A-1L. B-III. C-IV, D-I

7155058684, A-III, B-II, C-1, D-IV

Question Number : 86 Question Id : 7155052736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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UGl 1 et 11
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Options :

7155058681, A-L, B-III, C-IV, D-II



7155058682, A-1I, B-III. C-1, D-IV

7155058683, A-1I, B-III, C-IV, D-I

7155058684. A-IIL B-II, C-I, D-IV

Question Number : 87 Question Id : 7155052737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Ist Five Year Plan | [. |1969-1974
4th Five Year Plan | IT. |1951-1956
8th Five Year Plan | III. [1992-1997
11th Five Year Plan| IV |2007-2012

o|o|w|=

Choose the correct answer from the options given below:
Options :
7155058685, A-1. B-II, C-III, D-IV

7155058686. A-1L, B-1, C-III, D-IV

7155058687, A-IL, B-III, C-IV, D-I

7155058688, A-1I, B-1, C-IV, D-III

Question Number : 87 Question Id : 7155052737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



et 1 3107 AT} 11 AT SISl Seadl.
gl 1 gt I

15t O/ TN O | L [1969-1974
4th O/ TUT g7 | 1L [1951-1956
8th UTd GU I TioHT |11 [1992-1997
11th OTd IY1G Giel] IV. 2007-2012

qrell feeied] Wit gy 3R [Hdal:

Options :
7155058685, A-L. B-II, C-III, D-IV

of o] w[»

7155058686. A-11, B-1, C-III, D-IV

7155058687. A-1I, B-III. C-IV, D-I

7155058688, A-1I, B-1, C-IV, D-III

Question Number : 88 Question Id : 7155052738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A PMaduras [. |Planned Hall city
B. JAurovile II. [Kadamba Vanam
C. Lavasa III. |Grid Iron
D. |Chandigarh IV. Matri Mandir

Choose the correct answer from the options given below:
Options :
7155058689, A-1V, B-1, C-II, D-III

7155058690, A-IV. B-II, C-1. D-III

7155058691, A-L. B-II, C-IV, D-III



7155058692, A-1I, B-IV, C-1, D-III

Question Number : 88 Question Id : 7155052738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

At I et 11
A [ges 1. [=rs fea faet
B. [sieEta 1L [®cda4a
C. [efaran 1L s ueor
D. [dgiTg IV. [ HieR
Options :

7155058689, A-IV. B-1, C-II. D-III

7155058690, A-IV, B-II, C-1. D-III

7155058691, A-L B-II, C-IV. D-III

7155058692, A-1I, B-1V, C-1, D-III

Question Number : 89 Question Id : 7155052739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following article is related to Panchayati Raj ?

Options:

7155058693, Article 243



7155058694, Article 324
7155058695. Article 124

7155058696. Article 73

Question Number : 89 Question Id : 7155052739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ul M=t Helefid BIurd el g 2
Options :

7155058693, HTC bl 243
7155058694, JATCIdHd 324
7155058695, T dl 124

7155058696. 3‘”L|aiﬁ| 73

Question Number : 90 Question Id : 7155052740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
How many acres is 1 hectare?

Options :

7155058697. 2.47

7155058698. 3.47



7155058699. 4.47

7155058700. 5.47

Question Number : 90 Question Id : 7155052740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| §R TEUS fohall T2

Options :

7155058697. 2.47

7155058698. 3.47

7155058699. 4.47

47

h

7155058700.

Question Number : 91 Question Id : 7155052741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is the full form of the NITI ?

Options:

7155058701, Nattonal Institute for Transforming India

7155058702, National Industry for Technology India

7155058703, National Industry for Transforming India



7155058704. National Industrial Technical Institute

Question Number : 91 Question Id : 7155052741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
NITI o g0 S0 B 31g?

Options :

155058701, 12 g1k R TBIHIT g

7155058702, 1A 58] IR eHIalSH 587

7155058703, TRTA 38| R THBIHIT 387

155058704, AT SSEAC CaHIdb SECUC

Question Number : 92 Question Id : 7155052742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term "Conurbation" was coined by ?

Options :
7155058705, Kevin Lynch

7155058706. Patrick Geddes

7155058707. Ebenezer Howard



7155058708. Lewis Mumford

Question Number : 92 Question Id : 7155052742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"I BT Xsg bIvl AT el 2
Options :

7155058705, Al [oid

7155058706. |E‘.- SIRIER

7155058707, USSR GldS

7155058708. I EI ﬂ Ié

Question Number : 93 Question Id : 7155052743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the planner of Durgapur city?

Options :

7155058709. Le Corbusier

7155058710. Ebenezer Howard

7155058711, Joseph Allen Stein

7155058712. Charles Correa



Question Number : 93 Question Id : 7155052743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR G TIBR B0l 31g?

Options :

7155058700, Sl PISIFAR
7155058710, US-IZR BldS

7155058711. Eléliﬁ uqﬁl Ié:[

7155058712, =T B INAT

Question Number : 94 Question Id : 7155052744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In problem figures, A and B have certain relation. Identify which one of the answer figures will
have similar relation between C and D?

| R | 2

Options :

Js

7155058713.




7155058714.
N

7155058715.
] M

7155058716.

Question Number : 94 Question Id : 7155052744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

2k

7155058713.

1<

7155058714.
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7155058715.

i

7155058716.

Question Number : 95 Question Id : 7155052745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Housing Development Finance Corporation Limited (HDFC) was founded in:

Options:

7155058717. 1947
7155058718. 1961
7155058719. 1977

7155058720. 1981

Question Number : 95 Question Id : 7155052745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gIaRIT SadUH e BIg-a HIUR fdiffids (HDFC) ot AT Heff e
Options:

7155058717. 1947



7155058718. 1961
7155058719. 1977

7155058720. 1981

Question Number : 96 Question Id : 7155052746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An essential feature of federal government is:

Options :

7155058721, Centralisation of Powers
7155058722. Division of Powers between various levels
7155058723, Opposition

7155058724, Unwritten Constitution

Question Number : 96 Question Id : 7155052746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl YRDRI fA=IY LI 2T5:
Options :

7155058721, H {Ia aai;ilaiz[l



15505872, A< ATC Ul ST TRITUR

7155058723, TARIEH

7155058724, AHTAd T3

Question Number : 97 Question Id : 7155052747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a public sector bank?

Options :

7155058725, ICICI
7155058726. State Bank of India
7155058727. Indian Bank

7155058728, Canara Bank

Question Number : 97 Question Id : 7155052747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Options :

7155058725, ICICI

7155058726, ¥ S 3HTh 387



7155058727, 9109 §®

7155058728, X[ sldh

Question Number : 98 Question Id : 7155052748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

———| CONTOUR

500 40 Kl 20

In the given diagram, the location of D on the site is:
Options:

7155058729. 30-40

7155058730. 40-50

7155058731. 10-20

7155058732, 20-30

Question Number : 98 Question Id : 7155052748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

E[ CONTOUR
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& ATHAER, Yeed? D df SIRT HIUKT g2

Options :

7155058729. 30-40
7155058730. 40-50
7155058731. 10-20

7155058732, 20-30

Question Number : 99 Question Id : 7155052749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Statement I: In the given diagram, the location of B is higher than C
Statement IT: In the given diagram, the location of A is lower than C

In the light of the above statements, choose the correct answer from the options given below:
Options :

7155058733. Both Statement I and Statement IT are true

7155058734. Both Statement I and Statement IT are false

7155058735. Statement I is true but Statement IT is false

7155058736. Statement I 1s false but Statement IT is true

Question Number : 99 Question Id : 7155052749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058733, a% fFde 1 3101 Fdeg 1 sRie 31]%(‘1

7155058734, Q61 1HAGH I 3101 e 11 BT 3MTed

[ N § Y

155058735, e I SRISR 318 U fde i ol 3Mg

7155058736, [9a 1 DI 3¢ Ug (e 11 sRIR 2118

Question Number : 100 Question Id : 7155052750 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, the location of the A lies on which contour ?
Options:

7155058737. 20-30

7155058738. 30-40

7155058739. 10-20

7155058740. 40-50

Question Number : 100 Question Id : 7155052750 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058737. 20-30

7155058738. 30-40

7155058739. 10-20

7155058740. 40-30

Question Number : 101 Question Id : 7155052751 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Statement I: 'A' is located at the lowest point of the site.

Statement IT: 'A' is located at a lower point than B' on the site.

In the light of the above statements, choose the correct answer from the options given below:
Options :

7155058741. Both Statement I and Statement IT are true

7155058742. Both Statement I and Statement IT are false

7155058743. Statement I 1s true but Statement IT is false



7155058744. Statement I is false but Statement I is true

Question Number : 101 Question Id : 7155052751 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 102 Question Id : 7155052752 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, how many contour levels are present in between "P" and "S"
Options :

7155058745, 2

7155058746. 3

7155058747. 1

7155058748. 4

Question Number : 102 Question Id : 7155052752 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T f — = 1] CONTOURS
f/ Vd f‘___;__‘_ \'\ﬂs \ -
a K,«f P 15 S N\ A BUILDINGS
r ;’ IMRif {f ‘ul | ALL DIENSIONS ARE
SRR SR A A R
NN LN —— A B |
N NN e
LG il G
o ™, - 4
ot il 7
\“""'--._____ f‘,f’,‘
fected T diIaR, fadl 9= &R 3M1gd "pr 307 s =07 Ao
Options:

7155058745. 2

7155058746. 3

7155058747. 1

7155058748. 4

Question Number : 103 Question Id : 7155052753 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, "S" is higher than meter from "R"



Options :

LA

7155058749.

7155058750. 10

[
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7155058751.

| —
A

7155058752.

Question Number : 103 Question Id : 7155052753 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058749. 5

7155058750. 10

7155058751, 23

7155058752. 15



Question Number : 104 Question Id : 7155052754 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Based on the given diagram:
Statement I : "R" is higher than "P" and "Q"
Statement IT : "S" is higher than "P". "Q" and "R"

In the light of the above statements, choose the correct answer from the options given below:
Options:

7155058753. Both Statement I and Statement IT are true

7155058754. Both Statement I and Statement IT are false

7155058755. Statement I is true but Statement IT 1s false

7155058756. Statement I 1s false but Statement IT is true

Question Number : 104 Question Id : 7155052754 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058753, a% fFde 1 3101 Fdeg 1 sRie 31]%(‘1

7155058754, G161 1HAGH I 3101 e 11 BT 3Ted
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155058755, e I SRIR 318 U fde i ol 3Mg

7155058756, 9a 1 GdI 3¢ Ug (e 11 sRIR 218

Question Number : 105 Question Id : 7155052755 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Based on the given diagram:
Statement I : "P" is located at a height of 110 M
Statement IT: "Q" is located 5 M lower than "S"

In the light of the above statements, choose the correct answer from the options given below:
Options :

7155058757. Both Statement I and Statement IT are true

7155058758. Both Statement I and Statement IT are false

7155058759. Statement I is true but Statement IT 1s false

7155058760. Statement I 1s false but Statement IT is true

Question Number : 105 Question Id : 7155052755 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058757. a% fFde 1 3101 Fdeg 1 sRie 31]%(‘1

7155058758, Q61 1HAGH I 10T e 11 BT 3MTed

155058759 (A6 I SRISR {Tg Tid Aded 1 gdid 318

155058760, Ida I bl 318 Ud fdeT 1 sRIsR 318

Section Id :
Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Drawing

715505167
5

Offline
Mandatory

2



Number of Questions to be attempted : 2

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505167
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 106 Question Id : 7155052756 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50

Draw a proportionate sketch of given reference image. Use black and white rendering techniques of
your choice.




Question Number : 106 Question Id : 7155052756 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50
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Question Number : 107 Question Id : 7155052757 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50

Use the basic 2D shapes found in a motor cycle and create an interesting 2D composition of your
choice, colour with any three colours of your choice.

Question Number : 107 Question Id : 7155052757 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Correct Marks : 50
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